
cfNof ah]6 jf6 sfo{qmdx? cf=j=)&%.&^sfnfuL

qm=;= sfo{qmd tyf :yfg /sd

1 ;fO{ufpF leqsf] d'n jf6f]df kSsL gfnL tyf u|ljn $%) dL6/ 3375000
2 hf]ufufFp leqsf] d'n jf6f]df kSsL gfnL tyf u|ljn @%) dL6/ 1875000
3 asf]l6of ufpF leqsf] d'n jf6f]df kSsL gfnL tyf u|ljn %%) dL6/ 4125000
4 g]jfhLufpF leqsf] d'n jf6f]df kSsL gfnL tyf u|ljn #%) dL6/ 2625000
5 aGhf/] ufpF leqsf] d'n jf6f]df kSsL gfnL tyf u|ljn $)) dL6/ 3000000
6 df]tLk'/ ufpF leqsf] d'n jf6f]df kSsL gfnL tyf u|ljn %)) dL6/ 3750000
7 OGb|k'/ ufpF leqsf] d'n jf6f]df kSsL gfnL tyf u|ljn @%) dL6/ 1875000
8 u'?jfufpF leqsf] d'n jf6f]df kSsL gfnL tyf u|ljn !)!) dL6/ 5500000
9 sf]7f/k'/ ufpF b]lv :s'n ;Ddsf] jf6f] kSsL gfnL tyf u|ljn %)) dL6/] 3000000
10 g]=/f=k|f=lj= OGb|k'/ :s'nsf] @sf]7] ejg lgdf{0f 2000000
11 g]jfhLufpF k'j{ k66L bf]b/f gfnf aS;k'n 5000000
12 /djfk'/ ufpFsf] d'n af6f] kSsL gfnL tyf u|ljn %)) dL6/ 3000000
13 Xo'd kfOk vl/b 2000000
14 ljw'tLs/0f 2000000
15 ufpFkflnsf dlYynf] tnfdf u|Ln 500000
16 uf8L-Pda'n]G;,hLk,kmf]x/ kmfNg] 6]S6/ j 6of+sL xf]G8f h8fg ;lxt_ 8000000
17 ljsf; tyf e|d0f 500000
18 uf=kf=sf] lel8of] 8s'd]G6/L 4500000
19 j8f tyf uf=kf=sf] ;km\6jo/ h8fg 1200000
20 uf=kf=sf] /0flglts of]hgf 2000000
21 e}}k/L tyf af6f] dd{t 2912960.42
22 uf=kf=sf] cf/=Pd==6L= 1000000

hDdf 63737960.4

hfgsL uf=kf=


